Electrostatic
Spraying Systems

Parts Catalog for
Small Disinfection
Sprayers

62 Morrison St. - Watkinsville, GA 30677-2749
Toll-Free: 800-213-0518 - Fax: 706-769-8072

www.maxcharge.com



ESS Parts Catalog Version 1
1/19/2020



Description . Description |QC Socket - 1/8" Liquid - SS

QC Socket - 1/4" x 1/4" FPT - BR (Spraygun

Descripti
escription Air)

QC Plug - 1/8" x 1/8'" MPT - BR (Spraygun

Description liguid)

QC Plug - 1/4" x 1/4" MPT - BR (Spraygun
Air)

Description |QC Plug - 1/4" Air - SS

Description

Page 3 of 31



Description

Heat Shrink - Black Polyolefin - 0.400-0.150 -

ipti Heat Shrink - 1" Adhesi
i Adlasive @ 6 lidies il Description |Heat Shrin w / esive

Description

part 1205 z
Price/FT $0.32 Price/FT $2.50

Description |Hose -1/8"ID x 1/4" OD - Vinyl - Black

— T , " Hose - Twinline - 1/4" ID Blue Conductive x
Description [Hose - 1/4" ID - Polyfiber Description 1/8" ID

Page 4 of 31



Chain - # 16 - Single Jack - Black Iron - Blu-

Description Chrome

AS17283-2 AS17283-2-SS
49.00 $80.85

. Hose Assembly For Nalgene Bottle to Gun-
Description i
SS fittings

AS19209
$110.00

Hose Assembly, Twin Line BP2

Page 5 of 31

Description |Hose Assembly - Tank To Gun




AS17137-10 AS17137-11
$135.00 $275.00

. . .. Hose Assembly- Standard 15 Feet Blue
Description [Hose Assembly- Standard 15 Foot- Brass Description

Twinline- Stainless Steel
2,
&

AS17137-5
$134.35

AS17137-6
$208.92

Hose Assembly -- Standard 15 feet Blue

Description -
P Twinline Hose

Hose Assembly --SC-- Standard 15 feet Blue
Hose -SS

AS17137-12

AS17137-13
125.00

192.35

Description Hose Assembly- SC-EB--25 Feet of Hose- SS

AS17137-3

AS17137-9
$72.92

141.00

Description

Hose Assembly- SC-EB- 30 Feet with SS

Page 6 of 31



AS17137-16 AS17137-15
$200.00 242.35

Hose Assembly- SC-EB- 50 Feet of Hose-

Description
P Brass

Hose Assembly - Twinline - XT- Brass- 25

Description
P feet

Description

AS17137-14 Part# |
$77.50 Price  [50.40

Hose Assembly- SC-EB/MB Sprayers- 15 Ft- .
Description Brass Y / _— Coupling Nut, 1/4"-20, ZP

1518

Page 7 of 31



Price/FT

Description

Description

Description

Description

Hose Connection W/Nut

Air Hose- Fabric Covered - 1/4 1.D.- Gates

Description 4L0C

AP19902
$10.00

Description |Adapter for Backpack

Page 8 of 31



Description

Adaptor - 1/8-27 MPT x 1/8-27 FPT w/Flow Adaptor - 1/8-27 MPT x 1/8-27 FPT -

Description | icice - 0.031" Brass W/Flow Orifice - 0.031" - S5

Description

Description |Hose Clamp, Two Ear, 5/8" SS Hose Clamp - Worm - Size 4 - SS

Page 9 of 31



Description

17154
$5.62

Description

Ball Valve, 1/4" NPT, Hex Stock, Grip Universal Cut Off Valve - 1/4" Hose

Description Handle, BRA Connection -Plastic

Check Valve - 1/4" MPT Inlet - 1/4" FPT

Description .
P Outlet - Brass w/ Viton Seal

Page 10 of 31



Filter Element Kit - Bronze Sintered - For

P/N 227 Description [Filter - Air - In-Line

Description

Spraygun Shell - Left Half - Cleaned and Spraygun Shell - Right Half - Cleaned and

Description Tapped Tapped

Battery Cover - Spraygun Shell - Cleaned
and Tapped

Description |Battery Cover - Spraygun Shell

Description

Page 11 of 31



Liquid Line Leader Assembly for Spraygun - Liquid Line Leader Assembly for Spraygun-
Plug To HB Plug to HB -SS

Description |Trigger Assembly Description |Trigger Assembly- Chrome Plated

Page 12 of 31



Description [Repair Kit - Trigger

Description

Description |Cap - Flow Regulator - Brass Description |Body - 1/8"-27 FPT

Page 13 of 31



Description

Description

Description

Description

Page 14 of 31



Parts |APs795 Parts |Ne-5983
price 8675 price —[S196.25

Hood -Row Crop Nozzle

Description

Description |Lockwasher, #10, SS

Party |1

Description

LED - Light - Red

Description |Battery - Alkaline-9V

Description |Nozzle Base Assembly - Greenhouse

AP5694
$4.50

Description |Insulator Ring

Description |Air Pressure Switch - for Sprayguns

8.4V

PRECHARGED

mAh Rechargeable

9.6 Volt Rechargeable Battery 300 Mah for

Descripti
escription T

Page 15 of 31



Part#  f1oss 0000000000000 |
Price  [$243

L. Connector Tab - Female - 22-18 GA - .250 L. Connector Ring - Male - 16-14 ga - #8 Stud -
Description . Description .
Series Vinyl - IN

Description

Description

Page 16 of 31



Description

il
AC220/240V 51
01210 11A 18/16W
T

Square Tube Axial Fan - 4.69" x 1" - Wire

Description Leads - 230VAC 50/60Hz

AC Equipment Cooling Fan, 23 CFM, 3.15" --

Description sC-1

Description

Page 17 of 31

/

s
™ CE

o
FAN z
e "&E‘xg- 08X

S1
AC110/120V 50/80HL
0.18/0.18A 18/18W

‘semscen

et

Square Tube Axial Fan - 4.69" x 1" - Wire
Leads - 120VAC 50/60Hz

AC Equipment Cooling Fan,23 CFM-- 220
volt for SC-1




Description

Description

Description

Page 18 of 31



Pars 17520 Parts 17977
price —[5250 price 8650

Plug Adaptor- British Plug for Charger Australia Plug Adaptor for Charger- 3 prong

Part#  [17105 Part# |
Price  [519.50 Price |

Extension Cord - N 5-15 plug - IEC 320
C);;:?I?Or:ﬁ Scc)fl ema - Unshielded Power Supply Cord- 125V 10 A

17191 Parts |
1537 price |

5 inti Power Cord - IEC 320 AC- 220 Volt for SC-1 ( 5 inti Extension Cord- IEC 320 AC- 220 Volt for SC-
escription right-angle) Continental Europe End plug eseription 1, ( right-angle) British End plug

17550 Part#  [17555
58.92 Price  [59.80

-2111H - i S |
L Vel A CIETE R RO L. Volex Extension Cord- IEC 320 to Australian
Description |Cord- European Plug for 220 Compressors Description

Standard Connector
on XT

Page 19 of 31



Parts 17754 Parts 17599
price —[8150.00 price 520750

Heat Exchanger - Air-Air - 0.250" Lytron 6000 Series Copper Tube & Fin Heat

Description Description

Inlet/Outlet Connections Exchanger

Power Supply For Sprayguns and Small

Description Equip - PS311

Equipment Cooling Fan Guard -4.69" Fan-
Nickel Plated Steel

Description |Steel Fan Guard for 3.15" Fan-- SC-1 Description

Page 20 of 31



Coupling Panel Mount Socket - QD - 1/4" ID
D e xcil;g"lziuanr? Sohuunt O?fcvzlveq Chro/me Fan Guards for SC-1 compressor (2660de44)
eseription Ping Thomas 647076
Plated BR

Coupling Panel Mount Socket - QD - 3/8" ID
Description |x 1/4" Coupling - Straight - Chrome Plated

Part#  [19248
Price  [$35.50

o EFC12 Series, Bulkhead Mount/Hose Barb, L \
Description . Description |1/8" Female Connector, Hose-CPB
Coupling Body

Part#  [19893
Price  [$20.50

L. EFC12 Series, In-line/Hose Barb, Coupling L. IN-LINE STRAIGHT,HOSE BARB, COUPLING
Description Insert Description INSERT

Page 21 of 31



Description

5/16" Hose Barb to 1/4" Coupling plug for

Description sC-1

Elbow - 1/4" HB x 1/4" MPT - 90 Deg - Nylon Hose Barb - 1/4" HB x 1/4" NPT - Nylon -

Description - White Description Black

Parts 10117

$7.50

Description |Hose Barb - 1/4" HB x 1/8" MPT - BR Hose Barb - 1/4" HB x 1/8" MPT - SS

Page 22 of 31



Description

Description

Description |1/8" HB X 1/8" FPT, BR

Page 23 of 31



Description

Description

LI
l‘lln'u; y‘

Description |3/8" HB X 1/8" MPT, Brass

Part#  [1519

Description |Screw - #6-32 x 3/8" - Phillips - RH - SS Carriage Bolt, 1/4"-20 X 1/2", SS

Page 24 of 31



Description |Tee-1/4" NPT - SS

Description

Description |Lockwasher - 1/4" - SS

=3
—
——
-
—
—
—
-—
=

TRy

Description |Tee - 1/4" NPT - Street - BR Description |Tee - 1/4" NPT - Male Branch - BR

Page 25 of 31



Description

Part# 4945

Description Pop-Off Valve

Adapter, Compression, 1/4" FPT X 3/8" OD Adapter - Compression - 1/4" MPT x 3/8"
Tubing OD Tube - B

Nipple Hex, 1/4", Hex SS Description |Elbow - ST - 1/4" NPT - SS

Page 26 of 31




Compression Tube Fitting - Coupling - 3/8" Compression Tube Fitting - Adaptor - 3/8"

Description 0.D.x3/8"0.D-SS OD x 1/4" MPT- SS

De

Wire / Cable Tie - Nylon - 4" Long - Black
(1000/BG)

Description

Description

Page 27 of 31



AS19081
$27.80

Description |1000 ML Bottle Assembly Nalgene Bottle Assembly for Backpack

Kelch Cap- Contour 225 - 2 1/4" Modified

ipti 1000 ML Repl t Lid for ESS #1229 ipti
Description eplacement Lid for Description Bwiiress Thrass (Ve

Description

Tank - 3 gal - SS - (Does not include:Lid, O-
Ring & Pick Up Tube for XT)

Description |Tank Assembly - 3 Gal - Complete

Description

Page 28 of 31



Description [O-Ring - Viton - # 031 Description |O-Ring, Buna N, for Nozzle Base

Description

Description |O-Ring - Tank Lid Description |O-Ring - Viton # 202

Page 29 of 31



"Velstrap" Clinching Strap w/ mounting

Description
P grommet 1"x12"

De

Part#  [AP1199
Price |5

9
$4.85 10.50

L. Connector, Liq Tight, STRN RLF, 1/2" NPT, L.
Description 20"-35" Description |Bracket - Hose

Part# 3252 0000000
Price 1163

5 inti Toggle Seal - 11/16" - Long Handle - 15/32"'-
escription [ '\

Page 30 of 31




Page 31 of 31



